
5× Table Search
1.	 Write out your 5× table below.

0 × 5 = 0

1 × 5 =      

4 × 5 =      

9 × 5 =      

12 × 5 =      
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5× Table Search
	2.	 Find the sets of 3 numbers from your 5× table number sentences. Colour 

them in. They may be horizontal, vertical or diagonal. Write the ones 
you find underneath. One is done for you as an example. How many 
can you find?

7 11 5 55 2 5 10 9 4 16

12 4 14 15 25 4 5 40 12 5

6 5 20 3 6 65 35 3 50 10

4 20 10 25 15 8 5 40 5 7

6 5 30 5 13 5 7 25 5 15

5 7 1 5 5 9 4 10 19 13

9 10 40 13 8 5 12 5 60 21

10 5 50 15 12 45 4 6 25 8

	a.	 4 × 5 = 20                                                                                         

	b.                                                    	                                         

	c.                                                    	                                                  

	d.                                                    	                                                

	e.                                                    	                                               

	 f.                                               	                                               

	g.                                                    	                                             

	h.                                                    	                                             

	 i.                                                    	                                             

	 j.                                                    	         

	k.                                                    	

	 l.                                                    	
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Twinkle Toes

There are adults and children at a school disco. 

On the dance floor there are 60 toes. 

How many adults and children are there?

You must have at least one adult and one child. 

There are a few possible combinations. 

How many can you find?

Challenge
Some tigers come to join the dancing!

Tigers have 5 toes on each foot.

There are still 60 toes in total.

How many adults, children and tigers are there?

There are a few possible combinations.

How many can you find?

There is at least one of each.

visit twinkl.comPage 3 of 3



5× Table Search Answers
1.	 Write out your 5× table below.

0 × 5 = 0

1 × 5 = 5

2 × 5 = 10

3 × 5 = 15

4 × 5 = 20

5 × 5 = 25

6 × 5 = 30

7 × 5 = 35

8 × 5 = 40

9 × 5 = 45

10 × 5 = 50

11 × 5 = 55

12 × 5 = 60
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5× Table Search Answers
	2.	 Find the sets of 3 numbers from your 5× table number sentences. Colour 

them in. They may be horizontal, vertical or diagonal. Write the ones 
you find underneath. One is done for you as an example. How many 
can you find?

7 11 5 55 2 5 10 9 4 16

12 4 14 15 25 4 5 40 12 5

6 5 20 3 6 65 35 3 50 10

4 20 10 25 15 8 5 40 5 7

6 5 30 5 13 5 7 25 5 15

5 7 1 5 5 9 4 10 19 13

9 10 40 13 8 5 12 5 60 21

10 5 50 15 12 45 4 6 25 8

	a.	 4 × 5 = 20                                                                                         

	b.	 11 × 5 = 55

	c.	 2 × 5 = 10

	d.	 3 × 5 = 15

	e.	 7 × 5 = 35

	 f.	 8 × 5 = 40

	g.	 5 × 5 = 25

	h.	 6 × 5 = 30

	 i.	 1 × 5 = 5

	 j.	 9 × 5 = 45

	k.	 12 × 5 = 60

	 l.	 10 × 5 = 50
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Twinkle Toes Answers

Challenge

1 tiger, 1 adult, 3 children

1 tiger, 2 adults, 2 children

1 tiger, 3 adults, 1 child

2 tigers, 1 adult, 1 child

1 adult, 5 children

2 adults, 4 children

3 adults, 3 children

4 adults, 2 children

5 adults, 1 child
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